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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any five questions.

3. Answers may be written either English or in Hindi; but the same medium should
be followed throughout the paper.
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1. In the land of Xena, there are three inputs to production: capital, physical labour

and mental labour. Men in have more physical labour power than women, but
both men and women have the same amount of mental labour power.

(@) Who earns more in Xena, men or women ? What do these differences depend

upon ?

(b) Imagine that the technology is such that more capital raises the marginal

product of mental labour faster than it raises the marginal product of physical
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labour. As the economy grows over time, its stock of physical capital is
steadily increasing. How would you expect the relative wage of men to

women to change over time ? Explain.

(¢) Women have one unit of labour time that they can allocate between raising
children and being part of the workforce. How would this allocation be
affected by the changes over time that were found in answer to part (b) ?
Explain. (2,3,10)
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2. Discussing the model of rural-urban migration, explain the policies that can lead
to a situation of full employment in both agriculture and the formal urban sector

without an urban informal sector being created. (15)
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3.

Why is sharecropping considered to be an economically inferior contractual
system ? Despite this, why does sharecropping enjoy enduring popularity in real

world practice ? (5,10)
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(a) Explain the benefits that would accrue to a landlord by lending to his own
labourer than lending elsewhere in a developing country’s rural market for
credit. (10)

(b) Assume that a moneylender in the village of Gohi can earn 10% rate of
interest if he deposits Rs. 1000 in a nationalised bank, with no fear of losing
any of this money. However, he can also lend the same in the informal
market with the following probabilities associated with repayment: Probability
1/3 that the loan will be repaid with interest, probability 1/3 that only
principal will be repaid, and probability 1/3 that the loan will not be repaid
at all. Further, in case that the loan is defaulted upon, there is probability
1/2 of recovering from the borrower worth Rs. 500. Calculate the minimum
rate of interest that this moneylender would charge so as to be indifferent
between lending in the informal market and depositing his money with the
bank. o (5)
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5.

Explain how the public interest theory of regulation might come to a different
conclusion regarding emission fees vs. marketable permits as compared to the

interest group theory. v (15)
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“Trade policy is politically contentious because it has important domestic
distributional consequences and because it generates clashes between values and

institutions in different nations.” Discuss. (15)
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Discuss and explain the process of causality through which international economic
integration affects rural poverty, especially in the context of the developing

economies. (15)
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(a) Explain how a policy of lending by the formal sector to economic agents
who would use these funds to lend in the informal markets, can have mixed
effects on its impact on the interest rate charged to the small borrowers.

Discuss three factors on which the net effect depends. 9

(b) ForYou is a newly formed credit cooperative which receives partial financing
from government banks. Members of ForYou can turn to it for a loan if they
need one. If a borrower defaults on a ForYou loan he is punished, which is
equivalent to a loss of monetary value F and is also excluded from future
dealings with ForYou. The monetary return to the borrower of these future
dealings is S. However, there is no telling whether ForYou will survive in the

future, its probability of survival being denoted by p.
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If each member is risk neutral, what is the expected value of dealing

with ForYou in the future ?

If a member has an outstanding loan amount of L and needs to repay
it along with the interest at the rate r, write down the value of his net

gain from default.

Suppose that the probability of ForYou’s survival depends on the
percentage of borrowers who repay as well as the quantum of
government assistance. Draw a graph with the repayment rate on one
axis and the survival probability on the other, and show how this graph

shifts with the amount of government assistance.

Show that a credible promise by the government to bail out ForYou -
in times of trouble can lead to an equilibrium in which all
borrowers repay and little government assistance is actually

required. (1,1,2,2)
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